1
Find the length of the curve y = E(Y = 3)\,/; over 4<x<16. SCORE: {25 PTS

NOTE: Your final answer must be a number.
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Find the centroid (center of mass) of the region bounded by y"—=10\/; and y=%x ' TDl/‘ (4}29 SCORE: /25 PTS
NOTE: Your final answer must be numeric. );3__):\1,
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NOTE: Your final answer must be a number.
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A certain stop light is programmed to take traffic conditions into consideration. A driver who pulls up to the light
when it is red will have to wait between 1 and 27 seconds. Let X' be the amount of time (in seconds) that a random driver must wait for a
red light to turn. Find the average (mean) time that a random driver has to wait if the probability density function of X has the form

xe[l, 27]
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Consider the region bounded by y =2x-10, y = Ex —land x=0.

Write, BUT DO NOT EVALUATE, a dy integral (or sum of integrals) for the volume
if the regio i

Write, BUT DO NOT EVALUATE, a single integral for the volume

if the region is revolved around the line x = 8.
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4
A solid of revolution has volume I27r(e-" + ¥)(6 = y) dy . Sketch the region and the axis of revolution. SCORE: /15 PTS
1
Do not use the x— nor y—axes as boundaries nor the axis of revolution.
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Find the area of the region between the curves y = cosx and y =sin2x over 0 S x < < =

SCORE: __ /25PTS
NOTE: Your final answer must be a number. L/l( j Gl
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